MATH 1060 September 10, 2014 Quiz 2

Name:

Table:
No electronic devices (phones, calculators, computers, etc.) are allowed during the exam.

You may only use techniques on this quiz which we have discussed in class. In particular,
you may not use L’Hopital’s rule in evaluating any of the limits below. You must have
provide clear, logical solutions to each of the problems below to receive full credit.

Problem 1 (1 point)

Use the precise definition of the limit at infinity to show lim ;712 =0.
T—>00

Problem 2 (1 points)
Calculate the following limit:

2sin(x) ‘
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Problem 3 (2 points)
Calculate the following limit:

lim 1 213 — 18z
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Problem 4 (1 point)
Where is the following function not continuous?
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Problem 5 (1 point)
What are the horizontal asymptotes of the following function?

63 — 522 4+ 7
203 +x — 5

fx) =

(To receive credit you must justify your answer mathematically.)

Problem 6 (1 point)
What are the horizontal asymptotes of the following function?

3r+1

Vhr2 + 21 — 3

(To receive credit you must justify your answer mathematically.)

fz) =
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Problem 7 (2 points)
Suppose f(z) is a continuous function defined for all real numbers, and that f(x)
satisfies the following equation:
[P 16

Mooy

What is f(2)?

Problem 8 (1 point)
Use the e-0 definition of limit to show that lim (4z —7) = —11.
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